Chrysler P113D: O2 Sensor 1/1 Slow Response (High
Frequency)

OVERVIEW
Severity

Medium
DIY Difficulty Level

Advanced
Repair Cost

$100-$550
Can I Still Drive?

i{es (Short-term only)
What Does The Chrysler P113D Code Mean?

For an aged Upstream O2 Sensor, the response rate to the air/fuel change is slower than when it
was new. The O2 Sensor tends to move less with the same air/fuel changes in a given time frame.
Therefore by observing the activity of voltage readings from the Upstream O2 Sensor, the quality of
the O2 Sensor can be detected.

What Are The Potential Causes Of The Chrysler P113D Code?

e Exhaust leak
e 02 sensor 1/1 signal circuit
e 02 sensor 1/1 return circuit
e O2 sensor 1/1

Reference Sources

Chrysler P113D, DTCDECODE.
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